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1. BHEFEBEIA
O FHFERA 48, 000 50, 000] A 2,000
ZAFEEE A 48, 000 50,000 A 2,000
G EEER 48, 000 50, 000 A 2,000
© HA 5, 000 7,000 A 2,000
1 ZEF B 2, 000 2, 000 0
= BRI B 2, 000 2, 000 0
2 HEMUA 3, 000 5,000 A 2,000
HEIN 3, 000 5,000 A 2,000
EHEEENNAG 53, 000 57,0001 A 4,000
2 EHEFEERH
O FEEXZH 55, 030 55, 480 A 450
1 Rl PRy 13, 000 13, 000 0
fertEY 13, 000 13, 000 0
2 BRIEAEH 2, 350 2, 350 0
EERRE 1, 750 1, 750 0
BRI EEE 600 600 0
3 MEEH 990 660 330
WIER 990 660 330
4 SBEXH 200 200 0
SR 200 200 0
b EAEE X 2, 300 3, 100 A 800
REZEE 2, 300 3, 100 A 800
6 WBIEEMREH 6, 480 6, 860 A 380
B RA 480 660 A 180
RS 5, 500 5, 500 0
EiRE 500 700 A 200
7 HEA AR A H 50 50 0
HEAT 2 B B 50 50 0
8 VHFEMEXXH 200 200 0
HEe & 200 200 0
9 EREEH 40 0 40
Ere% 40 0 40
10 ENll 84 # 37 H 300 500 A 200
I ) A 300 500 A 200
11 EfERH 2, 400 1,920 480
Has U — B 2, 400 1,920 480
12 A REE 2 H 10, 000 10, 000 0
A REE 10, 000 10, 000 0
13 HTFEEXH 16, 480 16, 340 140
IRE A B URE R 6, 480 3, 840 2, 640
it 10, 000 12,500 A 2,500
14 M2 240 300 A 60
s 240 300 A 60
@ EHEEXH 5, 670 6, 220 A 550
1 SF%EXH 10 200 A 190
SEE 10 200 A 190
2 RERBEXM 1, 370 1, 370 0
REREE 1, 370 1, 370 0
3 BRIEEMRE S H 260 500 A 240
EaGAt 60 200 A 140
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A = TEHE |EETEE| # W i &
G 100 100 0
ERE 100 200 A 100
4 EFETEREREXH 50 50 0
HEE M 2R R 50 50 0
b {HEEMESH 100 330 A 230
HFEME 100 330 A 230
6 ElSAE 3T H 70 300 A 230
R A 2 70 300 A 230
T NEAKEE 0 340 A 340
BITETE 0 200 A 200
H R 0 60 A 60
KiEE 0 80 A 80
8 BEfERIxXH 1, 450 1, 740 A 290
FE 1, 440 1, 440 0
Bas U — =z Bk 10 300 A 290
9 AfRLEFTH 2, 000 600 1, 400
£ & 2, 000 600 1, 400
10 #EZ H 360 790 A 430
e 360 790 A 430
® EHIERFEREH 6, 000 6, 000 0
B HRGE RN — & H 6, 000 6, 000 0
BHIRE RN —FE 6, 000 6, 000 0
FEEEXHE 66, 700 67,700 A 1,000
EEEEIN =L A 13,700 A 10,700 A 3,000
I HBEEBNZDER
1. ®ETRENIA
O REEERAIA 14, 000 11, 000 3, 000
1 EHREREDSBEEBIA 6, 000 6, 000 0
Bk ka7 M BRAINA 6, 000 6, 000 0
2 REEEETHRINA 8, 000 5, 000 3, 000
RFEBEERARIA 8, 000 5, 000 3, 000
BEEEIN G 14, 000 11, 000 3, 000
2 BEEHIH 0
O BEEEREXH 300 300 0
250 LB T H 300 300 0
+E+0E MEEA X H 300 300 0
BETREI X HE 300 300 0
BREIEEIN L ZEE 13, 700 10, 700 3, 000
m FlEEXH 0 0 0
AN X = 4R 0 0 0
BTH AN T =4 0 0 0
R H RN = 2 4E 0 0 0

H



